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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

búˆ Yy [ 6th Paper : Comprehensive Economic 
Development (Britain/Japan/China) & Basics 

of Environmental Economics ] 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %rÙÁV` `TˆÁå›Ã[˝ ]W˝Ó\ˆÁ„G ◊[˝–‰ªRÙO„X ÂEıX "◊`î◊[˝Y¿[˝' 

aeH◊ªRÙOTˆ c˜„Ã^◊ªK˜_ ? ◊[˝–‰ªRÙO„XÃ[˝ "◊`î◊[˝Y¿[˝' Ã[˝ªJÙXÁÃ[˝ 

Âl˘‰y [˝ÿóˆ◊`î ◊ªK˜_ %G–S› ◊`î* — [˝ÓÁFÓÁ EıÃ[˝”X* 

   10 + 10 

 (F) LÁYÁ„XÃ[˝ ◊`„îÁ~Ã^„X Â]c˜O◊L aÃ[˝EıÁ„Ã[˝Ã[˝ \…ˆ◊]EıÁ◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* Â]c˜O◊L `ÁaXEıÁ„_ E ı◊b„l˘‰yÃ[˝ 

%G–G◊Tˆ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 12 + 8 

 (G) ÂVe ◊LÃ^ÁC◊YI¯-AÃ[˝ Ã[˝ÁL±ºˆEıÁ„_ Eı› Eı› %UÔÍX◊TˆEı 

aeïıÁÃ[˝ Eı]Ôa…◊ªJÙ G c˜›Tˆ c˜Ã^ ? Ac˜O aeïıÁ„Ã[˝Ã[˝ aVUÔEı 

◊VEım◊_ Eı› Eı› ? 14 + 6 

 (H) ^FX [˝◊W˝ÔTˆ Y“Á◊‹ôˆEı [˝ÓÃ^ a+„VÃ[˝ VÁ„]Ã[˝ a]ÁX c˜Ã^ 

TˆFXc˜O ◊Xf„`b„^ÁGÓ a+„VÃ[˝ ◊XõıbÔ„SÃ[˝ EıÁ]Ó 

Y◊Ã[˝]ÁS ◊XW˝ÔÁ◊Ã[˝Tˆ c˜Ã^* ◊ªJÙyac˜EıÁ„Ã[˝ Y“`¬◊ªRÙOÃ[˝ =w¯Ã[˝ 

◊VX* a+„VÃ[˝ %Y“T«ˆ_TˆÁÃ[˝ ◊X„V¤`Eım◊_ Eı› Eı› ? 

a]Á„_ÁªJÙXÁY…[˝ÔEı [˝ÓÁFÓÁ EıÃ[˝”X*  10 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Eı›\ˆÁ„[˝ "◊Y„GÁ◊\ˆÃ^ÁX EıÃ[˝' aÁ]Á◊LEı\ˆÁ„[˝ =dYÁV„XÃ[˝ 

EıÁ]Ó Y◊Ã[˝]ÁS ◊XW˝ÔÁÃ[˝S Eı„Ã[˝ UÁ„Eı ? 

(F) "◊XÃ[˝[˝◊¨K˜~ =~Ã^X' [˝Á "[˝c˜X„^ÁGÓ =~Ã^„XÃ[˝' W˝ÁÃ[˝SÁ◊ªRÙOÃ[˝ 

[˝ÓÁFÓÁ EıÃ[˝”X* 
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(G) 1960-Ã[˝ V`„EıÃ[˝ ÂGÁQÕˆÁÃ[˝ ◊V„Eı ªJÙ›„X Y“[˝◊Tˆ¤Tˆ ◊[˝Eıî 

=~Ã^X ÂEıÏ`„_Ã[˝ ]«FÓY“ÿôˆÃ[˝ ◊ªK˜_ "E ı◊bc˜O Y“U]'* 

[˝ÓÁFÓÁ EıÃ[˝”X* 

(H) LÁYÁ◊X E ı◊bÃ[˝ =~Ã^„X Â]c˜O◊L `Áa„EıÃ[˝Á Eı› Eı› 

[˝Ó[˝ÿöˆÁ G–c˜S Eı„Ã[˝◊ªK˜„_X ? 

(I¯) Eı›\ˆÁ„[˝ ◊[˝–‰ªRÙO„XÃ[˝ È[˝„V◊`Eı [˝Á◊SLÓ "◊`î ◊[˝Y¿[˝„Eı' 

±ºˆÃ[˝Á◊XüTˆ Eı„Ã[˝◊ªK˜_ ?  

(ªªJÙ˜) ◊[˝–‰ªRÙO„X Y◊Ã[˝[˝c˜X ◊[˝Y¿„[˝Ã[˝ Y“E ı◊Tˆ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) 1846 aÁ„_ ◊[˝–‰ªRÙO„X "`aÓ %Ác˜OX' ÂEıX ◊[˝„_ÁY EıÃ[˝Á 

c˜Ã^ ? 

(F) ◊[˝–‰ªRÙO„XÃ[˝ "◊`î ◊[˝Y¿„[˝' ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ ]…_W˝„XÃ[˝ 

=d„aÃ[˝ \…ˆ◊]EıÁÃ[˝ CYÃ[˝ ]‹ôˆ[˝Ó EıÃ[˝”X* 

(G) LÁYÁ„X "LÁc˜O[˝Áda« Y◊Ã[˝[˝ÁÃ[˝' ÂEıÁXÀ W˝Ã[˝„XÃ[˝ XA’UÔEı 

\…ˆ◊]EıÁ G–c˜S Eı„Ã[˝◊ªK˜_ ? 

(H) ªJÙ›„X 1978 aÁ„_Ã[˝ YÃ[˝ Y“[˝◊Tˆ¤Tˆ ◊TˆX-Y^ÔÁÃ^› 

%UÔÍX◊TˆEı aeïıÁ„Ã[˝Ã[˝ AEı◊ªRÙO Ã[˝÷Y„Ã[˝FÁ Y“VÁX EıÃ[˝”X* 

(I¯) "Y◊Ã[˝„[˝`GTˆ E«ıL„Xda ÂÃ[˝FÁ' %X«aÁ„Ã[˝ Y◊Ã[˝„[˝` C 

=~Ã^„XÃ[˝ ]„W˝Ó a+EÔı ÂVFÁX* 

(ªJÙ) Y◊Ã[˝„[˝` aey‘Á‹ôˆ %Á‹ôˆL¤Á◊TˆEı a]aÓÁ Y“`]„X V«◊ªRÙO 

%Á‹ôˆL¤Á◊TˆEı =„VÓÁG [˝Á %Á‹ôˆL¤Á◊TˆEı ªJ«Ù◊N˛Ã[˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(ªK˜) ÂEıÁ„XÁ ÂV„` V…bS ◊XÃ^‹óˆ„S Eı› Eı› ◊XÃ^‹óˆS [˝Ó[˝ÿöˆÁ 

[˝Ó[˝c˜ÁÃ[˝ EıÃ[˝Á c˜Ã^ ? 

(L) Y◊Ã[˝„[˝`GTˆ [˝ÿô«ˆÃ[˝ ]…_ÓÁÃ^„XÃ[˝ =„ï„`Ó [˝Ó[˝c˜÷Tˆ 

"ÂHÁ◊bTˆ YªK˜„≥VÃ[˝ Tˆ√º¯◊ªRÙO' Eı› ? 
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English Version 

 
1. Answer any two questions : 20 × 2 = 40 

(a) Why did Industrial Revolution occur in 

Britain in the mid-eighteenth century ? 

Cotton textile industry was the leading 

industry in shaping Britain's Industrial 

Revolution. Explain. 10 + 10 

(b) Discuss the role of the Meiji Government in 

promoting Japan's industrialisation. Review 

the progress of the agricultural sector 

during the Meiji regime. 12 + 8 

(c) What type of economic reform measures 

were introduced in China during the regime 

of Deng Xiaoping ? What are its positive 

aspects ? 14 + 6  

(d) The optimal amount of extraction of 

exhaustible resources is determined at that 

point of time when augmented marginal 

cost becomes equal to the price of 

resources. Explain your answer in terms of 

a diagram. What are the indicators of 

scarcity of resources ? Explain critically. 

  10 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) How does 'Pigovian tax' determine socially 

optimal volume of output ? 

(b) Explain the idea of 'sustainable 

development'.  

(c) 'Agriculture first' was the cornerstone of 

alternative development strategy in China 

in the early 1960s. Explain.  

(d) What measures were taken by the Meiji 

rulers to develop Japanese agriculture ?   

(e) How did foreign trade promote Industrial 

Revolution in Britain ? 

(f) Explain the nature of transport revolution 

in Britain. 

3. Answer any four questions  : 6 × 4 = 24 

(a) Why was 'Corn Law' abolished in 1846 in 

Britain ?  

(b) Comment on the role of different sources of 

capital in Britain's Industrial Revolution.  

(c) What negative roles did the Zaibatsu family 

play in Japan ? 
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(d) Give an outline of the three-phased 

economic reforms introduced in China 

since 1978.   

(e) Show the relationship between environment 

and development in terms of Environmental 

Kuznets curve.  

(f) Discuss two international initiatives or 

international agreements to reduce 

international problems relating to 

environment.  

(g) What different control mechanisms are 

used to control pollution in a country ?  

(h) What is 'Stated Preference Approach' for the 

purpose of evaluating environmental    

goods ? 

    


